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Oty (0 ~m | 2EPOPIT T

e § @ @ g s o Lege
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FRA R 2 /0, &
(1) st e oy

@) sftretE 50% ot wHt

(3) T HU I I

(4) T 1 T ATATeh Tl

- :-f" .:’ I_‘i

mm,mmsv%aﬁ%’“

A e F AT HG T Y, g A
(1) dEw@e . (2) A §A
(3) FeadEd (@) FH Hih HEH

YA Bt e Fen e e @
fepet =1 Feh Srarer o forg SR e
(1) =edH (2) aTERA
(3) T (4) TS

et % =y gt A /i (1665) W
EEET T AT Pt AAHIE T

(1) vafEE-I (2) SEfdiE-II
(3) ered 8 (4) ST TEH

et % ek &

(1) Hea=E ) =

(3) TeeMEE  (4) ATy
g =it % w81 W faoafir e
Wﬁ%’rﬁrwmmﬁ%fm
T ST T % 9T 3T ?

(1) TEfEdisa  (2) 5T
(3) |y EawE g (4) HEE TES

et 37 el AT TS Y T S ?
(1) =8, 1875 (2) VR, 1875
(3) W, 1885 (4) WS, 1885

-,

3 G Pl iz it .
L, RbS{se e e

‘* thep

i

b WD R

Whicltof the following issues was not
"part of the demands, which Gandhiji
sent toxGovernor-General Irwin ?

et fa gt R
/ ("1’) Total liquor prohibition

(2) Reduction of land revenue by 50%
(3) Abolition of Salt Tax :

(4) Complete internal autonomy to
India,

P a0
The Company Officer, who was
assassinated in Kota during the
Revolution of 1857 :
(1) Colonel Abbot
(2) Major Burton
(3) Captain Showers
(4) Captain Mouck Mason

The Jat leader of Bharatpur who inspired
the peasants of Shekhavati for uprising :

(1) Chandra Bhan (2) Ghasi Ram
(3) MoolaRam (4) Deshraj

The Mughal Commander, who signed
the Treaty of Purandar (1665) with
Shivaji

(1) JaiSingh-1 (2) JaiSingh—1III
(3) Jashwant Singh (4) Shaista Khan

Pushtimarg was propounded by

(1) Madhavacharya

(2) Nimbark

(3) Vallabhacharya

(4) Chaitnya Mahaprabhu

At the behest of whom, Vijay Singh
Pathik came to Kharva Thakur Gopal
Singh to organise a revolution in
Rajasthan ?

(1) Rasbihari Bose

(2) Shachindra Sanyal

(3) Sadhu Sitaram Das

(4) Kesri Singh Barhath

Where and when the Arya Samaj was
founded ?

(1) Bombay, 1875 (2) Lahore, 1875

(3) Agra, 1885 (4) Mumbai, 1885
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Freferad § & w1 a1 e A §

AR TG H TEH TRIOYH IET T
SR ?

(1) T 1w, oot

(2) T HieSE, fewet

(3) RHIGEI 1 HHET, TR
(4) W wfese, smmr

o T 31w o e wg B
8, 10, 18, 44, 124,
(1) 342
(3) 366

(2) 354
(4) 376

B,ARINE R, a1 C, AR R, D, B
1 957 B, E, C 1 91§ 8 A E &1 ==
HHQ?
1 A
3) C

2) B
4 D

frer e & W 4 D R A
&I I YR Sea- T FHIH TE
T ST ?

4+34+2%x4-8=12
(1) 238, + 3R x
(2) 23R8, -3+
(3) 234, +3Mx
(4) 43M 8, x I+

3THI F MEFAHIA o A U=asd’ Hl
HRE # ITaTe fha fopa ¢

(1) sft 2) T s
() FEAHITA  (4) THIRH Wi

3

10.

11.

12.

Which of the following is considered to
be the earliest example of the double
dome in Mughal Architecture ?

(1) Humayun’s Tomb, Delhi
(2) Jama Masjid, Delhi
(3) Itmaduddaula’s Tomb, Agra

~ (4) Moti Masjid, Agra

The next term of the given sequence is :
8, 10, 18, 44, 124,
(1) 342
(3) 366

(2) 354
- 4) 376

B is the brother of A. C is the daughter
of A. D is the sister of B. E is the
brother of C, then who is the uncle of
E?

(H A

3) C

(2) B
4 D

In the following equation, which of the
interchanges in two signs and two
numbers would make the given
equation correct ?

4+342x4-8=12
(1) 2and 8, +and X
(2) 2and 8, -and +
(3) 2and4, + and X
(4) 4and 8§, xand +

Who translated the ‘Panchtantra’ in
Persian during the reign of Akbar ?

(1) Faizi

(2) Nizamuddin Ahmad

(3) Abul Fazal

(4) Ibrahim Sarhindi



13.

14.

15.

16.

17.

18.

19.

TG p(x) = (x - 2)% + 4 % YA i T@n @
@ 1 @) 2
3) 3 @) 0

TR G 35 Y = 81; 814~ Y =3
Lok

5 15
(1) x=2,y=1 (2 x=3y="

17 15
@) x=2,y=2 4 x=7,y=T

I a, b, ¢ F WE M B W
ab+bc +ca=0,d a2, b2, 2 FTHTET B
(1 m? 2) 3M?
(3) 5M2 (4) 9M?

I} Fo sl & meE wE Wit @
I 2:3 B, O I ATk H w5
AT AT T AT

(1) 3:2 2) 23

3) 5:3 @) 3:5 _
If Tk ot ity vig Y s o Feg
S 8 10% Y gfg L et B < 3w
e # et g Bt 2

(1) 21% (2) 33.1%

(3) 66.3% 4) 78.2%

49 x 33 x 24 Y fomiaAt 916t w3
e & The Hl uAER TH 39 e
T ST & A 39 M <t B B
(1) 213 2) 24%f
(3) 279 (4) 308

4 Qft TS % TH 39 U9 1 1 Ot
TS % Bl T § TH 1 & fu sg wm
%! fepat ST wrer SR ?

1 3 2) 6

3 9 4 12

13.

14.

15.

16.

17.

18.

19.

The number of zeros of the polynomial
p(X)=(x-2)*+4is

(1 1
3 3

2) 2
@ 0

The solution of pair of equations
3F+Y=81; 81*Y=3is

15

3 _15
(1) x=2,y=1 (2 x=3y="

1 1
3) x=2,y=2 CY) x=?7,y=§5

If the mean of a, b, ¢ is M and
ab + bc + ca = 0, then mean of a2, b?, ¢? is
(1) M? (2) 3Mm?
(3) 5M? (4) 9M?

If the ratio of mean and median of a
certain data is 2:3, then what is the ratio
of its mode and median ?

(D 3:2 (2) 2:3
3) 5:3 4 3:5

If both the radius and height of a right
circular cone are increased by 10%, its
volume will be increased by

(1) 21% 2) 33.1%
(3) 66.3% 4) 78.2%

A solid piece of iron of dimensions
49 %33 x 24 cm® is moulded into a solid
sphere. The radius of the sphere is

(1) 21cm (2) 24cm
(3) 27cm (4) 30cm

To obtain smaller cubes of length 1 cm
from a solid cube of length 4 cms, how
many times should it be cut ?

(1) 3 (2) 6
3 9 4 12
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Frafafias 8 @« @1 v o Iuet @
TE R ?
(1) W
(2) T
(3) 9UwH
(4) IS

T ¥ e weg-gm &1 -9 gafem
TR ?

(1) 9¢d —9cH = Ti{R- q@

(2) d —shia = T gom — wiligr gan
(3) AN — 3 = AT — &

(4) €a—wH = A1 - wJfa

FrafaRea # & fore e o geds firan
HT TGS ?

(1) VA HER |
(2) T SR ST T R |
(3) M RmemRE |
@) TR

7 & v e & sfih o T

1 T il g i ® ¢
(1) Acknowle{:lgement = qrardt
(2) Auditing = S@TIHET

(3) Antecedents = gt-:fzm

(4) Applicant = 3TTIgH

T & e Rrpea § Tt 9 2
(1) S + AT = I

(2) T+ W& =q99

(3) & + Al = wgHfd

4) &+ 7 = Fga

25.

26.

27.

28.

29.

Choose the right connective and fill in
the blank :

The weather was terrible, N
we decided to delay our programme.

(1) then

(2) therefore
3) if

(4) but

Choose the correct tense :

I'am sorry, I ____ anything about your
problems.

(1) didn’t know

(2) was not knowing

(3) not knowed

(4) have not knew

Use the correct suffix :

There was a green___ light coming
from the window.

1 -ly
(2) -ish
3) -ful
(4) -some

Choose the part of the sentence which
is incorrect :

Our office ; is near to the airport ;

(a) (b)
so it will be easy  for you to get here
(© @

1 a

2 b

(3) ¢

4) d

Choose the correct preposition :
What she said agrees what I have
already heard.

(1) against
(2) from
(3) with
4) of




30.

31.

32.

33.

3.

TErE I e SR 6 S
=1 fufga Hifvre

(i) STt Traers TiE 1 ferhTH HET |
(i) STt T Wl TG |

(iii) PET-IGA & S5 |
EHE TR RE
(1) () 3 (i)
(3) (i) 3N (iii)

(2) (ii) 3R (iii)

4) (1), (i) 7 (iii)
yyEEA e A (T
(ft.er. T aE-s0) & 31 7=, 2019 96

frem TR % famior 1 T W TR ?
(1) 1508 (2) 1.5%08
(3) 2HE 4) 2.5%8

T .U, 2. v fovafaeme
FafRIa 2

(1) stearerd  (2) TERHA

(3) SugeH (4) JeageH

FYA (KUSUM) aA1 & &R H

FrferRea et W fmm i

(a) FISHT h! TN 2018 = T &7
T 1 77g off |

(b) URHT & Irla M T TR
91t T HR STt T T HeR B |

(c) TR, framl gr Sefea i -

G Tt @l |
THE A A BT A A TAE ?
1) @3B @ b))
3 @IRE) @ (@, b))

FHUET-2011 % FIER ToRy™ A

R ST Y e H1 i
feraT 2 ?

(1) 13.5% 2) 14.6%

(3) 16.8% ) 12.5%

30.

3.

31.

32.

33.

Identify the objectives of Mukhyamantri
Jal Swavalamban Abhiyan :

(i) To develop self-water reliant

villages.
(ii) To increase groundwater level.
(iii) to change in the cropping pattern.
Choose the correct code :
(1) @) & (i) (2) (i) & (iii)
3) (1) & (iii) @) (@), (i) & (1)
The target set for the construction of
houses till March 31, 2019 under

Pradhan Mantri Awas Yojana -
GRAMIN (Rural) [PMAY-G] is :

(1) 1 crore (2) 1.5crore
(3) 2 crore (4) 2.5 crore

The Rajasthan ILD Skill University is
situated in

(1) Banswara
(3) Jodhpur

(2) Jaipur
(4) Udaipur

Consider the following statements
about KUSUM Scheme :

(a) The scheme was announced in the
Union Budget — 2018.

(b) Under the scheme farmers can set
up solar power plant on their
barren land.

(c¢) Government will buyback surplus
solar energy produced by the
farmers.

Which of the above statements are true ?
(1) (@ &((b) (2) (b) & (c)
(3) (a) & (o) 4) (a),(b) & (c)

As per the Census-2011, what is the
percentage of Scheduled Tribe
population in Rajasthan ?

(1) 13.5% (2) 14.6%
3) 16.8% 4) 12.5%

ocC



35.

a3k

38.

Frifera & @ = |1 WRa 1wt 9
Uehe 8 TUT ‘TG’ & T & SIHT S
27

(1) fiwguadt -t -37

2 IM@WHR-IH

(3) NWwEHR WS -1

4) i -

3780, 8. 3TNEa B
(1) FrmaTes ggua
(2) T gt
@3) B

(4) ggum

T “2 1 T8~ B 215 Bl & SiE@h
L

(1) whifdr Gpam

(2) FaTe A T

(3) umE g

4) U giewat

WHTYE @Wee iy O & §R A
Fefeiaa weEl W fRER FHifte

(a) AT TH UE YRER H ufrad
T ST % 7T 2 30,000 @e
i i % fow T 3 v W
ST R TG HAT R |

(b) TS * =Tl ST Yot had
YU ST 6 ATEAH § WeH 6
WA E |

SEFA AR AR AFATTI R/ 8 ?

(1) I () TR |

(2) FaA (D) TAR |

3) M (a), ME (b)) TR |

4) ()T ()N TAF |

35,

36.

37.

38.

Which one of the following is India’s
heaviest rocket and referred to as
‘Bahubali’ ?

(1) PSLV-C-37
(2) RLV-TD

(3) GSLV Mk-1II
(4) PSLV-XL

INS Arihant is a/an

(1) Aircraft Carrier Warship
(2) Nuclear Submarine

(3) Frigate

(4) Warship

Book “21 Lessons for the 21% Century”
is authored by

(1) Francis Fukuyama
(2) Yuval Noah Harari
(3) Thomas Friedman
(4) Eric Hobsbawm

Consider the following statements
about Bhamashah Health Insurance
Scheme :

(a) The scheme provides health
insurance cover of ¥ 30,000 for
general illness and ¥ 3 lakhs for
critical illness every year to an
eligible family.

(b) Under the scheme health services
are provided only through
government hospitals.

Which of the above statement/s is/are
true ?

(1) Only (a) is true.

(2) Only (b) is true.

(3) Neither (a) nor (b) is true.

(4) Both (a) and (b) are true.



39.

40.

- 41,

42.

43.

frafofaa & @ @9 @1 FEA B
HAREITE R ?
() &
(3) S=iH

(2) TwTE
(4) FotH

FiRrem wowigs o AW ; g %
¥R 1 I &
(1 1:1
3) 2:3

@) 1:2
4) 3:4

100 W 1 T forga s1es1 6 9 (h) wiafew
w1 forn S R | wew g O fo °
=i St kWh # 8
(1) 0.36
(3) 0.50

(2) 0.60
4) 0.30

frafafea & @ =9 @ wioed 99 $

AT HTEEIFHE ?

(1) =ta ¥t - S =g — e
— G A — W

@) #w i — @9 [ > e
— I = —> A

3) P — S *|R — AR
— 3T =R — A Tef

@) FRETE — V6 =R — T —
I =R — wiw aEht

2018 # fr=ferfaa & & fora uew fenpmu

A R fFmen 2 ¢

(1) et Ea®I @

(2) YT ATSATON

(3) W fig uf

(4) ATy

39.

40.

41.

42,

43.

Which of the following is not an
allotrope of carbon ?

(1) Diamond
(3) Benzene

(2) Graphite
(4) Fullerene

The ratio of mass of magnesium :
sulphur in magnesium sulphide is

(1) 1:1 2y 122
3 2:3 4 3:4

An electric bulb of 100 W is used for
6 h per day, the energy consumed by the

bulb in one day in kWh is
(1) 036 (2) 0.60
(3) 0.50 (4) 0.30

Which of the following is the correct
sequence of the components in a reflex
arc ?

(1) Muscle — Motor neuron —
Receptor — Sensory neuron —
Spinal cord

(2) Muscle — Sensory neuron —
Spinal cord — Motor neuron —
Receptor

(3) Receptor — Sensory neuron —

Spinal cord — Motor neuron —
Muscle

(4) Receptor — Motor neuron —

Spinal cord — Sensory neuron —
Muscle

Who among the following has been
conferred with Padma Vibhushan in
2018 ?

(1) Gulam Mustafa Khan
(2) Pankaj Adavani

(3) Mahendra Singh Dhoni
(4) Laxman Pai

oc
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45.

46.

47,
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HiAUT % 31T 61 % AR TFIR
g weTRivT 61 Hehew @R ST TeRaT
&, 9 35 g &

(1) SfIY™ H1 Iooeq
(2) TSITEA ¥ FEEAT
(3) =AM AT #H GER B

et
@) TeeitreR %1 gewEm

TEH 3TTaThTe <ht Ewon & R wfream

ﬁmmﬁaﬁWW?

(1) saTeEd gy g sfafeam
g

(2) TaTelige wiqu™ ey Srffem
LY

(3) arehias dfoum dsiew it
G

(4) rEdied dfouym g srfifem
g

WU % SgER el dfy-uRee § @

39T U YT 49 &

(1) JuFEE & yae-vd

(2) Tpufa & yER-wEa

(3) T Y F TAE-9I

(4) TSTEHT & TATIT & TEE-93a

TR e fifea wEfes M (CNG)
1 TG T &

(1) agH
(3) =g

(2) T4
(4) TEE-g

45.

47.

According to the Article-61, of the
Constitution, the resolution for
impeachment against the President can
be brought, when he/she

(1) violates the constitution

(2) non-cooperates with the

administration

(3) rejects the advice of the Supreme
- Court

(4) misuses the Veto power

Through which constitutional
amendment the word ‘armed rebellion’
was inserted to the Constitution to
declare a National Emergency ?

(1) Through 42" Constitution
Amendment Act

(2) Through 44" Constitution
Amendment Act

(3) Through 40" Constitution
Amendment Act

(4) Through 38" Constitution
Amendment Act

According to the Constitution, in the

Union Council of Ministers, a minister

shall hold his/her office ‘

(1) during the pleasure of Prime
Minister

(2) during the pleasure of President

(3) during the pleasure of Lok Sabha
Speaker

(4) during the pleasure of Rajya Sabha
Chairman

The major component of bio-gas and
Compressed Natural Gas (CNG) is

(1) Methane
(3) Butane

(2) Propane

(4) Iso-butane
(=



49.

50.

51.

52.

frerifera 3 & R Tl 1 FEY FlauE
¥ AR 371 AR ?

(1) TS Ta i

(2) WEWIE T ToR

(3) 3TEH Td RUEH

(4) ARG TS ITETTE T

e ) MeeR e e d
o H FafRd g ?

(1) e e

(2) TEK 1 TSR

(3) B HeH

(4) W HEH

T # el et (Dust Storms)
<o % foru sTaTEm T A H 8 2
(1) 3= 911 ATI=R

(2) ¥id g & 3= TR

(3) wawa forand

(4) Fereaa % Tor T fet s <l

2001 & 2011 % 7ex et # & fopw Rt
# orqufa ST I B AT
g ot feam sifra HITE R 7

(1) SreareT

fyfrr % g = ftrpa @ 2
(1) I=H AR

) ot g

(3) wEG

@) fafty smm

10

48.

49.

50.

51.

52.

Among the following, which states are
related to Article-371 of the Constitution ?

(1) Nagaland and Mizoram

(2) Maharashtra and Gujarat

(3) Assam and Meghalaya

(4) Manipur.and Arunachal Pradesh

The circular hill of Ramgarh is situated
in which of the following regions ?

(1) Shekhawati Region
(2) Hadoti Plateau
(3) Chappen Plains
(4) Ghaggar Plains

Which is essential condition for the

occurrence of dust storms in Rajasthan ?

(1) High annual range of temperature

(2) High atmospheric pressure during
winter season

(3) Convective Activity

(4) Low pressure conditions over

Tibetan Plateau

Which of the following districts
registered highest decadal population
growth rate of Scheduled Tribe during
2001-2011 7

(1) Banswara
(2) Nagaur
(3) Jaisalmer
(4) Barmer

Who is authorised to regulate the
procedure for the appointment of Chief
Justice of India and other judges of
Supreme Court 7

(1) Supreme Court
(2) Ministry of Law
(3) Parliament
(4) Law Commission
ocC
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4.

55.

oc

wH w fem ¥F fmw e
(PRASHAD) 191 8 gfefera fsen
27 -

(1) 3R (2) HAEE
(3) TUgRI (4) e

fr=ifea & @ F @ s Rewm
AR % He & v 7 2 ¢

(1) 8 wf-wof Hfers wafm ot oo
ST R |

() I8 T, %@mwm
s asad |

(3) 384 7 mEeaqel =Rt g, wagor
T ST e § |

(4) & wlorsaeelt 7€t g =i |

frefefaa =1 gifera HIRMA qen 9 =
wfw T H T 8
() TR () Ty (de)
@) A (i) ST (AFIR)
(@) dfar (i) foreeT (SfegR)

@ T EERR/ (v) Sad-Rimm

EURLH (FH)
@ |

(31) (¥)
D 6 G
@ @ Gi)
(3) (iv) (i)
@ @) (i)

@) @
(iii) (@v)
(iv) (iii)
(i) @)
(i) (@v)
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53.  Which of the following site of religious

4.

55.

significance in Rajasthan is identified
for development under ‘PRASHAD’
Scheme ?

(1) Ajmer (2) Kolayat

(3) Nathdwara (4) Tanot

Which of the following is not true about
school mapping ?

(1) Sometimes it is referred as

educational map.

2

It can be done at local, regional
and national levels.

(3) It involves three major steps
diagnosis, projection and
proposals.

(4) It should not be forward looking.

Match the followings and select the
correct answer using the codes given
below :

Minerals Mining areas in
Rajasthan
A. Pyrites (i) Saladipura (Sikar)
B. Tungsten (i) Degana
(Nagaur)
C. Copper (iii) Bilara (Jodhpur)
D. Limestone (iv) Khetri-Singhana
(Jhunjhunu)
Codes :
A B C D
(D) @) G ) (@Gv)
@) @) @) @(v) (ii)

(3) (v) (i) @) @)
@ @ i) @) )



56.

57.

58.

59.

it & o o e R 1 SRR

R 2009 3 G H T T @ 7

(1) 341 ©S 26 Trermerat § ferent
R B T A TEE R |

(2) T @e 28 el % g fatt
& Bl wfErd ST 8 |

(3) samammmwwwéw’m
TR A TG B |

4) mawmwea‘i%mrﬁ%
WM A EEE S |

@4 %1 POSDCORB g3 freiferd o &

fre fmen ?

(1) ¥ %A

) e T I A
3) Wl IR, A

@) s, R

T e R fere 3 fréengam

e ead @y % e 7 B @

e T T 8 7

(1) e ey aff % ot wewl
) TaeH BT gH AUHR R |

) Mﬁ%mﬁqqﬁﬁﬁﬂﬁm
dic B W 43H H FEH H G
fForortaes &0 |

3) 7 frerer % fafe framheml i
Tifer Fa |

4) fyerer Seua afy @ femem d
Ry sTavEea I faafiE %
FriE Td gREnaT ) A HE
6 A TE & |

Ry 1 HUHR HEI (2009) % TE

s § faaem w Tl #

Rt HTau 2 ?
(1) ITH -1 2) FEE -1
(3) IFF -1V (4) I - 11
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56.

57.

58.

59.

Which of the following statement is not
true about RTE Act, 2009 ?

(1) Section 26 specifies filling up

vacancies of teachers in schools.

@

Section 28 prevents teachers from
private system.

3)

Chapter III deals with curriculum
and evaluation procedures.

(4) Chapter VI deals with protection
of Rights of Children.
The ‘POSDCORB’ formula of

management was given by

(1) Henry Fayol

(2) Luther Gulick and Urwick
(3) George R. Terry

(4) R.C.Davis

As per the guidelines of Elementary
Education Dept. Rajasthan, which of
the following is incorrect about School
Management Committee ?

(1) All members of SMC has equal
right of voting.

(2) Incase of equal votes in favour and
against an issue, the vote of
President/Chairperson shall be

final

It monitors various activities of
school.

3)

SMC need not monitor admission
and facilities for special need
children at school.

4

Which of the following chapter of RTE
Act, 2009 deals with responsibilities of
schools and teachers ?

(1) Chapter I (2) Chapter III
(3) ChapterIV  (4) Chapter I

oC



61.

62.

63.

ocC

ﬁnfmﬁﬁ%aaﬁ@ﬁﬁm@mgﬁ
A B HET TR R 7

(1) 2016 (2) 2017
(3) 2018 (4) 2015

T el siferent ferermer wem w2
(1) 3= fram

(2) 3= wrufhes Rien

(3) wreafyes e

(4) = mreafies fg

BIECii

(1) T Aferw .. W Jeah
2) T Hfereh grastt A

(3) T AT e

(4) Hg« i ey

ﬁmﬁmﬁéﬁqmnﬁaﬁﬁﬂﬁm
H1gar= B R 7

(1) = T gftse

2) H-ufyg

(3) weu gfafy

4) feren vfteg

freifes & @ =9 @ wm §
§.0H. 373, 1 ST R ?

(1) gramems

2) W.IRIHRT

(3) HHid.

(4) 3.UH.TE.
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60.

61.

62.

63.

64.

started
of the

Sainik  School Jhunjhunu,
functioning from which
following year ?
(1) 2016
(3) 2018

) 2017
4) 2015

Kasturba Gandhi Balika Vidyalaya
provides

(1) Higher Education

(2) Upper Primary Education
(3) Secondary Education

(4) Senior Secondary Education

Gyanvani is

(1) an educational FM Radio Network
(2) an educational TV channel

(3) a virtual classroom

(4) Moodle based learning

Which of the following is the apex body
of Rashtriya Military School ?

- (1) Central Governing Council

(2) Executive Council
(3) Board of Management

(4) Academic Council

Which of the following is an example
of EMIS in India ?

(1) DISE
(2) NIEPA
(3) DPEP
(4) EMS



65.

66.

67.

68.

69.

T TARE % et i iR
Y O T T § ?

(1) frereEl & aduE SRR H
T

(2) Tl ) T YL T HHT

(3) frareEt & FAHE AT D
Wit farawor 1 e

(4) Rerereri 3 Jeah § GwEH

AT THTRE T TES S AT F §E
off 7

(1) 77awR, 1950 (2) 79T, 1949
(3) 7 3, 1950 (4) 7 ITHRI, 1949

freifer @ =8 @ fren ®AL
(sveas R weTfEer) SR W

safea & g ?
(1) 3R
(3) et

frerifea # & @ @ fawm SIERT,
IR iR ¢

(1) e fre favm

2) s wE mfvra fesm

(3) WIGHsHH Td iR ferm

(4) ot srer o

frrifea 1 & forg o 1 faferdt wgell 1
o ufatda e, g ffad e e
T ?

(1) 2006
(3) 2008

(2) 2007
(4) 2017
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65. The diagnosis stage of School Mapping

66.

67.

68.

69.

does not include

(1)

study of present demand of
schools

2
()

study of existing supply of schools

study of geographical distribution
of present demand of school

modifications to the school

network

@

Bharat Scouts and Guides was founded
in which year ? ' '

(1) 7" November, 1950

(2) 7" November, 1949

(3) 7™ October, 1950

(4) 7™ October, 1949

Which of the following district is not
allotted to CTE, Udaipur ?

(1) Udaipur (2) Kota

(3) Pali (4) Bharatpur

Which of the following is not a
department of SIERT, Udaipur ?

(1)
(2)
€)

Department of Teacher Education
Department of Science and Maths

Department of Curriculum &

Evaluation

(4) Department of Woman Studies

In which of the following year ‘Military
Schools were renamed as ‘Rashtriya
Military Schools’ ?
(1) 2006 (2) 2007
(3) 2008 (4) 2017

ocC



70.

71.

72.

73.

74.

75.

ocC

Fafafes & @ o9 @ YEHA AT
THTe § 7 T T oft 7
(1) »mE<H AR (2) FHgear

(3) wmE 4) fosrmrs Sgafa

34 M wt fafea Fifv, 9 y=ie @
% A forem 1 Fg o7 |

(1) IR (2) ot

3) afwmg (4) WeHes

frfeafea & @ & a1 s fren gum
| waiftr & o 7

(1) I () WamEm

(3) VST  (4) W=t amEm

Sfehy =g Feoll % an # PefiRed s

Wﬁﬁﬂiﬁm:

(2) S ST WP  SeUT B FTEH
AT FAHT T FehT9 TR |

(b) 3TE WG o Jfaites 32 giwr et
FHR FUTAFUSE 3u=rme ft frd |

TG ARG /B AP TR/ 7

(1) ¥ (2) TR |

(2) I (b) TR |

() T (@) IRTE b)THR |

(4) (a) @1 (b) SHI T & |

B $voR Y wfe Hirey @R FEar € e
T a9 Ia ST Hoeaiya) i
T o forg st arfm vame o I
AT G |” I8 FU fraar 2 7

(1) kg (2) gy S

(3) WM (4) A AeYaTE

IR A AP T AR Tdi 8 ¢
IV Ty yitd

(1) Ry - =R fug

) THgE - |ig

(3) dferan - 3%

@) <fadgrg - fig
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70.

1k

72.

73.

74.

75.

Which of the following Sanskrit works
was not compiled during the Gupta period ?
(1) Kamandak Nitisar

(2) Ritusamhar

(3) Kamsutra

(4) Vikramank Dev Charita

Identify the place, which was a centre
of learning during Ancient period.

(1) Chunar (2) Valabhi
(3) Arikamedu (4) Bharukaccha

Which of the following commissions was
not related to the education reforms ?

(1) Hunter Commission

(2) Raleigh Commission

(3) Sadler Commission

(4) Strachey Commission

Consider the following statements

~about Bankim Chandra Chatterjj :

(a) He published a magazine Bang
Darshan in order to uplift Bengali
culture.

(b) Besides Anand Math, he also

- authored novels — Durgesh Nandini
and Kapal Kundala.

Which of the above statement/s is/are

true ?

(1) Only (a) is true.

(2) Only (b) is true.

(3) Neither (a) nor (b) is true.

(4) Both (a) and (b) are true.

“I take holy vows in the name of God
and say that I will continue to fight for
the freedom of India and its thirty eight
crores inhabitants till my last breath.”
Who made this statement ?

(1) Bhagat Singh

(2) Subhash Chandra Bose

(3) Mahatma Gandhi

(4) Lala Lajpat Rai

Which of the following is not correctly
matched ?

Ashokan Pillar Capitol
(1) Sarnath — Four lions
(2) Rampurva — Bull
(3) Sankisa — Horse

(4) Lauriya Nandangarh — Lion
o
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